
L2(16).4 (mod 3)

blocks defect matrix

G : 1 1 3× 2
2 1 3× 2
3 1 3× 2

4 = 2 1 3× 2
5 0 601 = χ2+, ϕ2+

6 0 602 = χ6+, ϕ6+

7 1 3× 2

Block 1: ϕ1,0 ϕ10,2

11 = χ1,0 1 .
163 = χ10,2 . 1
173 = χ11,2 1 1

ϕ1,0 = 11
ϕ10,2 = 163

Block 2: ϕ1,1 ϕ10,3

12 = χ1,1 1 .
164 = χ10,3 . 1
174 = χ11,3 1 1

ϕ1,1 = 12
ϕ10,3 = 164

Block 3: ϕ1,2 ϕ10,0

13 = χ1,2 1 .
161 = χ10,0 . 1
171 = χ11,0 1 1

ϕ1,2 = 13
ϕ10,0 = 161

Block 4: ϕ1,3 ϕ10,1

14 = χ1,3 1 .
162 = χ10,1 . 1
172 = χ11,1 1 1

ϕ1,3 = 14
ϕ10,1 = 162



Block 7: ϕ11,0+ ϕ11,1+

341 = χ12,0+ 1 .
342 = χ12,1+ . 1
681 = χ14+ 1 1

ϕ11,0+ = 341
ϕ11,1+ = 342


